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Topic:- General knowledge

1) Aadharkaanch village known for the traditional ‘Galsan Maala’ of beads is located in which of the following
districts of Madhya Pradesh? /

3R g o fop Aifaal B uRule Taa= Arar & fore =1 Siran 8, 7ey yew & fAufefaa i § 3
g R RAE?

1. Dhar / YR
2. Alirajpur / G‘IFﬂTI\_SI'QT
3. Mandsaur / IIE@T

4. Jhabua / AT3HT

Correct Answer :-

« Alirajpur/ m

2) Laxmi Narayan Temple, a unique style of architecture which is a mix of fort and temple, is situated in which
of the following places of Madhya Pradesh? /

et AR 6ieR, aRgH T P TP ST Aol B N 7 ford o wfer &1 fysyor 8, wem wowr & FRafaf@a
T H | wet W R g2

1. Indore / SGR

2. Ujjain / IS

3. Mandhata / TRITCT

4. Orchha / 3BT

Correct Answer :-

« Orchha / 3BT

3) ‘Kasturba Gandhi Balika Vidyalayas’ of Government of Madhya Pradesh are resided in .
T WS T & "Heqgean e arfereT faemaa A g gl

1. small and scattered habitations / BIC 3R faRa¥ Sraraf

2. highly populated centres / STYDH ST CIREE

3. areas populated by religious minorities / T Sreuiege! aTal SMTaTeT &1

4. big factory premises / a% PR & URIRI

Correct Answer :-

« small and scattered habitations / BIc G'ﬁT foay sirarat



4) Madhya Pradesh ranks ____in India according to availability of mineral resources. /
Qe T B SUART $ IR, URA A AU R W I

1.3/ AR

2. 4th /Yy

3.20d /g
4. 15t/ T8

Correct Answer :-

. 4t Y

5) Madhai forests are a part of which of the following biospheres in Madhya Pradesh? /
AYE ST, Heg W F Al shavsal & | frae te frw @2

1. Panna National Park/ Ul ?T@’q 3

2. Kanha National Park / I8l ?T@'q REIC

3. Satpura National Park / HdYSI ?T@'q 3l

4, Pachmarhi National Park / q%ma? W@q RO

Correct Answer :-

« Satpura National Park / FdgsI ?T@'q 3

6) ‘Iqbal Award’ is given by Government of Madhya Pradesh for the excellence in the field of: /
A WSRT WA & R 'SHATA REPR' 39 &F § Ipyar & fore far siman 8:

1. Hindi literature / [gdl Oifgsd

2. Classical music/ [T Ffid

3. Folk arts / @& Harsfl

4. Urdu literature / 3§ g

Correct Answer :-

o Urdu literature / Gﬁ HT%E[

7) 2017 Sportsperson of the Year by Sports Illustrated India Magazine was awarded to: /

WY geeees 53 i gR1 3R ' 2017 & WA RS & RpR A g fHar T
1. Sunil Chettri / T &A1

2. Neeraj Chopra / IRol TTST

3. Virat Kohli / faRTe ®lgeit

4. Kidambi Srikant / forgrealt sfiepid

Correct Answer :-



« Kidambi Srikant / foeTil fpid

8) What is the total length of roads constructed in Madhya Pradesh as at present? /
gdu ¥ v wewr ¥ fAfifa Tea @) po dars w3

1. Less than 70000 kms / 70000 forH! & &7

2. More than 80000 kms / 80000 fooHT & 3ffereh

3. 70000-75000 kms / 70000-75000 faHit

4. 75000-80000 kms/ 75000-80000 farHt

Correct Answer :-

« More than 80000 kms / 80000 foHT T 31fdes

9) What does NEPA Ltd. located in Burhanpur district of Madhya Pradesh produce? /
T W= & QR ford ¥ fRya Aur (@agie) fifRs win same wrar 32

1. Cement / S

2. Steel / HTd

3. Newsprint / ;'J,Srlﬁ?
4. Arms and ammunition / Bﬁfﬁlﬂ 3R T dReq

Correct Answer :-

« Newsprint / ?ﬁﬁ?

10) Who was the first Indian to win an Oscar? /
TP Sia aTet Ugel WIRATT B A2

1. Satyajit Ray / Hoid ¥

2. A.R. Rahman / T.3R. YgHIT

3. Guru Dutt / % &d

4. Bhanu Athaiya / HT] 3{ Q)|

Correct Answer :-

« Bhanu Athaiya / YT 31341

11) The original Panchatantra was written by: /

el Uada §7ob g1 ferfaa ot:

1. Pandit Vishnu Sharma / Uf&d ﬁq Traf
2. Chanakya / dT0Td]

3. Mulk Raj Anand / Jeb IS 3G

4. Bhavabhuti / lﬁﬂiﬁ[

Correct Answer :-



« Pandit Vishnu Sharma / Uf&d ﬁ'ml Rl

12) The Golden Peacock Award for the best film is awarded at which of the following film festivals? /
wa 9y feew & forg Mes diele sats fFafafaa # @ fre fvee woris A e s o2

1. Cannes Film Festival / &1 fthed ﬂmﬁ‘s’

2. Tnternational Film Festival of India / HRd ST RIS fthed ARG

3. Venice Film Festival / A9 flhed T0RIE

4. Golden Globes / TTeg Tdd

Correct Answer :-

« International Film Festival of India / HRd T SHTT@T{ frea ‘qum—&'

13) The Gun Carriage Factory is located in which of the following places of Madhya Pradesh? /
A W F FrafafEd i | & o5 T e bt fRa @2

1. Indore / 3@?

2. Gwalior / TdTfeRR

3. Bhopal / uard

4, Jabalpur / SId¢TYY
Correct Answer :-

« Jabalpur / SIe[cTYR

14) A traditional community of singers based in Baghelkhand region of Madhya Pradesh is: /
T YN F TUAES &7 W fRUT TP BT TP URURS TN 2

1. Bambulia / m

2. Rewat / XaTd

3. Alhait / 3{eTed

4. Basdeva / §9cd

Correct Answer :-

« Basdeva/ Wﬁa

15) The Bhimbetka rock shelters in Madhya Pradesh was discovered and revealed to the world by i
& gRT AU ¥ fiudesT AaTyg (RTe Aced) B Wiel B T3 3R gFHrar &t garar T

1. Tara Chand / dRT T&

2. Sachchidanand Sahai / H%E'IT‘K{ el

3. Bindeshwari Prasad Mishra / TSR} o foysm

4. V.S. Wakankar / dt. T, GTH U6

Correct Answer :-



« V.S. Wakankar / 1. TF. 9T UTHT

Topic:- General Hindi

1) YN & forg Tt it fawde o gfw
1. dY+3IHd

2. AY+SH T

3. 9Y+3d

4. AY+3d

Correct Answer :-

2) GG FPIYS FU AT A A BT ATR?
1.dclH
2. oaH
3. dlalH
4. dlaH

Correct Answer :-

3) Arfter & fog w3l | fawse &1 gl
1. MRS
2. R Sar
3. ﬁ[ﬁ%’-‘{[
4. s

Correct Answer :-

. RSy

9) R daasr sRR @ s Fadd s
1. 3d
2. 3Hd
3. 3fda:
4. 3fd

Correct Answer :-



5) I F e ud yatuarh ard 2r=g) Ft ufda «1 gfw)
1. &l faray, sigganfer

2. Xfa, feThR, Sigqafer

3.3, faaw, sigafa

4. fa, famra, sigqanfar

Correct Answer :-

6) NeMgE s FRA @I FadIswe
1. 3STER
2. 3R
3. 3R
4. 3SR

Correct Answer :-

7) ¢ & e ae yataard ara =gl $t ufda o1 gl
1. T, HSITT, I
2. T, YO, AT
3. ST, HoiTT, 2]
4. IUTA, HSiTT, ST

Correct Answer :-

8) ‘gid Wg P YgTaR &1 3 g fipei A A H AT e?
1. &M

2. XA

3. YT

4, Sl

Correct Answer :-

9) <3 He frat fireg = geTak &1 o e el A A B AR
1. 3T ST ¥ad HRAT

2. U URIT WY AT

3. 3O URIT T AT



4. 3O IR BT

Correct Answer :-

10) UfEa &1 9 & & P19 a1 96! faa wsg 82
1. STt

2. 9T

3. ™

4. 99

Correct Answer :-

11) “HHMET T IS ARG g F A I s are?
1. AT Y A
2. F BT HMAET

3. 7 H AT
4. 79 & ferg AT

Correct Answer :-

« AT HA

12) <3ffer U & T g A A A DT AT 32
1. STATYD

2. TATAD

3. 3{Tfdh

4. 3D

Correct Answer :-

13) frigr o1 e & @ o1 w1 98 faaa 2sg 32
1. Tl
2. 5gfd
3. & (A
4. Tl

Correct Answer :-



14) HHUT ITH BT YT HIT FT 3?2
1.%ad
2. TP
3. Bl
4. faama

Correct Answer :-

15) AT & df =-f&e=n Agi 1’

SWRIF Ufd # e & 4 o149 91 PR 32
1. SUAT 3[APR

2. U 3APR

3. JH® 3MTADR

4. 0D AABR

Correct Answer :-

. TUD HADR

Topic:- General English

1) Choose the option with the appropriate punctuation inserted for the given sentence.
The prime minister the home minister and the chief minister addressed the gathering
1. The prime minister the home minister and the chief minister addressed the gathering?

2. The Prime Minister, the Home Minister and the Chief Minister addressed, the gathering.
3. The Prime Minister, the Home Minister, and the Chief Minister addressed the gathering.

4. The Prime Minister the Home Minister, and, the Chief Minister addressed the, gathering.

Correct Answer :-

o The Prime Minister, the Home Minister, and the Chief Minister addressed the gathering.

2) Choose the option that best transforms the given sentence using a question tag.
These days, couples go in for genetic counseling.

1. These days, couples go in for genetic counseling, can’t they?

2. These days, couples go in for genetic counseling, don’t they?

3. These days, couples go in for genetic counseling, shouldn’t they?

4. These days, couples go in for genetic counseling, isn’t it?

Correct Answer :-

» These days, couples go in for genetic counseling, don’t they?



3) Choose the appropriate articles to complete the following sentence.
____Andamans are a group of islands in ___ Bay of Bengal.

1. An, the

2. The, a

3. The, the

4.A,a

Correct Answer :-

e The, the

4) Choose the correct form of verb that is in agreement with the subject:
Since Sheetal _ to close the windows, thecat __ in.
1. forget, jumps

2. forgot, jumped

3. forgets, jump

4, forgotten, jumping

Correct Answer :-

« forgot, jumped

5) Choose appropriate tense for the given sentence:

Hari ____ tea in the evening.

1. was drinking

2. is drinking

3. drinks

4, drink

Correct Answer :-

o drinks

6) Choose the most suitable determiner for the given sentence:
Hurry up! Thereis not ___ time left for the match to begin.
1. few

2. much

3. any

4. little

Correct Answer :-

e much



7) Choose the appropriate preposition for the given sentence:
Susan likes to have a toast her morning tea.

1. at
2. by
3. with

4. on

Correct Answer :-

« with

8) Select the suitable conjunction to complete the sentence:

The poor villagers can neither read ___ write their own language.
1. or

2. nor

3. when

4. as

Correct Answer :-

9) Spot the error in the given sentence:

The first half of the movie was boring but the latest half was exciting.
1. but the latest half

2. was exciting.

3. was boring

4. The first half of the movie

Correct Answer :-

« but the latest half

10) Choose the most suitable prefix for the given sentence:

Throughout history, there have been instances in which people have been ___ willing to accept new theories.
1. in-

2. de-

3. un-

4. non-

Correct Answer :-



Topic:- General Math

1) An angle that is bigger than 180° and smaller than 360°is called  _ /
HIOT AT 180° & I3T AR 360° A BT BT, Fgeldl ¢

1. Reflex angle / gfaadf o

2. Acute angle / ?Eaﬁ'UT

3. Obtuse angle / 3 P

4, Right angle / DI

Correct Answer :-

 Reflex angle / gfaadf o

2) The term in the below sequence increases by the same amount each time. Find the first term. /

oy f&U e 3fepehd # Ug, §X @R GH AT F dedl o 96l Ug Ald dlielv]

1% Term 2" Term 3 Term 4™ Term 5% Term
? 12 ? ? 27
1.5
2.17
3.7
4. 20

Correct Answer :-

3) What will be the maximum number of digits in the repeating block of digits in the decimal expansion of% T/

~ % g R # 37 & geRad! @5 # A e dEr g
1.5
2.8

3.6

4.7

Correct Answer :-

e 6

4) - 4/150 .
If+6=2.4495  then the value of S s /
afe J6=24495 %, ar e @ &

2

1. 5.23471

2. 6.34527



3.6.12375
4.7.14327

Correct Answer :-

« 6.12375

5) Which of the following real number should be subtracted from the polynomial x*- 3x% +4x 453, so
that it is exactly divisible by x2-x+1?/
EEQEX4—3x3+4x+5 T Fid O adids I 9@l AT a0 9T a8 2=+l & Ur:ﬂ'
e W == g

1.5

2.8

4.4

Correct Answer :-

6) A dealer buys a commodity from a showroom in a hi-tech mall at a price of Rs. 27500. If the price includes VAT
and the original cost of the commodity is Rs. 25000, then what is the VAT percentage? /

TP AR, ETE-30 Al § T WA § 27500 TUT P T a¥g Wilgal ¢ 1 e Heu # 9 e ¢ sk ag
BT IRATAD I 25000 $UT B, ot de ufara war 82

1. 25%
2. 15%
3.20%

4. 10%

Correct Answer :-
e 10%

7) A swimming pool is constructed in the shape of a right angled triangle. One side is five-third of the length of the
second side (leaving the longest side). If the management decides to increase the length of one side by 4 m and
decrease the second side by 2 m such that the area of the swimming pool remains the same, then what was the
length of one side before the alteration happened? /

e i ga o1 fAutor, waetor fys & sner d f6ar a1 8 1 T Yo, gt Yol (9ad dal Yo &t

BISH) B Ga18 31 Ura-fagms 31 i YU TP Yol $t dq1s B 4 Hiex 96 9eM 31 3R gast Yol &1 2

MWTWWW%W%%@ dl BT &ABA JHM I8, al TRad= g1 I Ugd TP Yl
1 A

1.18m/ 18 |
2.20m /20 Ht
3.22m/22 Ht

4.16m/ 16 |



Correct Answer :-

« 20m/20H

8) Sourav has some spare sheets of paper which he pins together and makes rough notebooks for sale. One sheet
can be cut into 8 pages of a rough notebook and one rough notebook can be made with 20 pages. If the number of
spare sheets available for making rough notebooks is 7500, then how many such rough notebooks can be made? /

TG & U SRS B 0 stfala 2R & <) a8 v 1y T wear 3 i faet & forg 3w St s=rar g1
TS Hic HY IG HIUGT & 8 Y8T § HTCT oI Hebdll 8 3R TP IB HIUT 20 Y¥T A T73 o Febell 81 TR 3%
Piuar s P fore Sueasy sifafvaa el # J@m 7500 €, @ T frat Yo Sl 991 S Gl 82

1. 3500
2.30

3. 300
4. 3000

Correct Answer :-

« 3000

9) Sanju buys 10 kg banana for Rs. 300, Anju buys 12 kg for Rs. 480, Anjali buys 15 kg for Rs. 300 and Anjani
buys 20 kg for Rs. 200. Which one of them got a better deal? /

T 10 felt A 300 TUT A, 3ie] 12 Fra) Fet 480 TUT T, 3fwifer 15 fra FaA 300 TUC A 3fR 3iwrt 20 fpat
Fd 200 3UC H W 21 370 9 frd Jgav Aer frem

1. Anjani / S
2. Anjali / 3fSifer
3. Sanju/ﬂ'\_{L
4. Anju/ 3@:

Correct Answer :-

« Anjani/ ST

10) What is the least number that is divisible by all the natural numbers between 1 and 10? /
98 gHATH TSI 1 ¢ 1 1 3R 10 & o9 &1 3ff wrpfae wemsi gr favrsa 82

1. 2550

2.2520

3.1250

4. 5040

Correct Answer :-

« 2520

11) A vehicle covers a distance of 56.42 km in 2.8 litres of petrol. How much distance will it cover in 3.33 litres of
petrol? /



T d18 2.8 Tiiex Ueid | 56.42 footlt ot gt a0 &var 81 3.33 diex dgta # gz fha-l gl aa s
1. 68.32 km / 68.32 Tl

2.69.3 km / 69.3 fopHt

3.70 km / 70 foeit

4.67.1km / 67.1 et

Correct Answer :-

« 67.1km/67.1 fpet

12) The perimeter of a rectangle whose length and breadth are in the respective ratio of 5:3 is 64. What is the
breadth of the rectangle? /

TS 3Mmad &1 U 64 B, RIS G 3R SIS BT HHRT: 3IUTH 5:3 81 TG DI ASTS AT ]2
1.4 cm /4 9.

2.8 cm /8 THI.

3.12 cm/ 12 G,

4.20 cm /20 9HT.

Correct Answer :-

« 12cm/ 12 99

13) Sam’s sugar consumption is 25% more than that of Sandy. By how much percent is Sandy’s sugar
consumption less than Sam’s? /

ﬁn%m?aﬁmﬁ’r?ﬂ-—ﬁaﬁwﬁﬁn% 3 21 A gRT B 9F drelt N1 & Wud A9 4 fvaq
TR a2

1.30%
2.25%
3. 15%

4.20%

Correct Answer :-
e 20%

14) If ‘a’ and ‘b’ are two positive integers such that the least prime factor of ‘a’ is 5 and the least prime factor of
‘b’ is 7, then the least prime factor of (a+b) is: /

‘2’ 3R ‘b’ G YFTHS YUITP $H UPR 3 P ‘2’ BT FAaH U UHTS 5 3 3R b’ BT gAaH U
TUFRES 7 8, @ (a+b) BT YATH AU UHES 82

1.7
2.12
3.2

4.5

Correct Answer :-



15) Zeroes of a cubic polynomial p(x) are 3, -6, and 7. The coefficient of ‘x’ in p(x) is: /
Wmmp(x)%ﬂlﬂ& -6, 3ﬁ?7?| ?ﬁ'p(x)ﬁ: x’ WW%

1.4

2.-39

3.-126

4. 16

Correct Answer :-

« -39

Topic:- General Logical Reasoning

1) Study the following information carefully to answer the question.
3DKSP27#@4JTHO9*FMR15% 768
How manv such svmbols are there in the above arrangement which are immediately followed by
aletter but not immediately preceded by a letter?

92sT & 3cal &1 & folv fraAfeif@a el &1 aadegds 9e|
3DKSP27#@4JTHO*FMR15%768
Ied Sae # W oy e § e qid ag e R E dfFa 9id T v

& 6T 87
1. One / Uh
2.Tw0/a

3. Four / dR

4. Three / GG

Correct Answer :-

e One/UTdh

2) A select group of 4 is to be formed from 8 men and 6 women in such a way that the group must have at least 1
woman. In how many different ways can it be done? /

4 AN T TH 991 9E, 8 YUl 3R 6 AfFansil & 30 SR g41a1 911 ¢ 6 g & o1 A &9 1 afgan gt
Tfee | gg fraq faftra afie) | forar s goar 82

1. 931
2. 567
3.442
4.728

Correct Answer :-

« 931



3) How many numbers of 4 digits divisible by 5 can be formed with the digits 0, 2, 5, 6 and 9? /
31 0, 2, 5, 6 3T 9 GRT 5 T FAHTRTT 4 3T P ford=it AT FATE oI Tbal 22

1.48

2. 44

3.46

4.42

Correct Answer :-

o 42

4) A train 200 meters in length passes a pole in 10 seconds and another train of the same length travelling in the
opposite direction passes in 8 seconds. Find the speed of the second train. /

200 HieR AETS ATl TP o TP UId Bl 10 Abhs W UR Hdl 8 MR faudia fazm & o &t war @ars archt
ORI ¢ I 8 WHS B UR el g | gAY o1 B A1l [Tl BHog |

1. 108 km/hr / 108 foF#¥/=r=T
2. 106 kmy/hr / 106 THt/==T
3. 110 km/hr / 110 ForHt/==T
4. 104 km/hr / 104 Teft/=eT

Correct Answer :-

« 108 km/hr / 108 fFfi/=eT

5) An alloy contains 10 grams silver, 20 grams copper and 10 grams tin. What is the percentage of silver in the
alloy? /

U iy arg o 10 I =i, 20 I qiET AR 10 AT feA 71 Ry eng ® AidY &1 wfowa | R?
1. 30%
2.25%
3.15%
4.20%

Correct Answer :-

e 25%

6) 8 litres are drawn from a cask full of wine and is then filled with water. This operation is performed three more
times. The ratio of the quantity of wine now left in cask to that of the water is 16:65 respectively. How much wine
did the cask hold originally? /

3= A R U Y | 8 cftex arg ReTelt mit oz five IR urit @ wR o T 39 S Y ok fiF IR faran
T fY & Tt g5 915 B AT BT U A ST HHRT: 16:65 8 | ARY B N A frast arg A

1. 26 litres / 26 Tex
2. 30 litres / 30 TTex

3. 24 litres / 24 TeX



4. 28 litres / 28 Tex

Correct Answer :-

o 24 litres / 24 ey

7) From a pack of 52 cards, one card is drawn at random. What is the probability that the card drawn is a ten or a
spade? /

52 Uil ) =T 1 TS A TP U ATefed U A frerar man |« wikiear @ 76 e mr v ggar g @
§PH PIUAI 82

|I~J

—
[

4.

Correct Answer :-

8) A fruit seller sells mangoes at the rate of Rs. 7 per kg and thereby loses 20%. At what price per kg he should
have sold them to make a profit of 4%? /

TS W fathar 7 $ud ufa fra @1 g3 & 3l & =ar 8 3R 39 UhR I 20% T IJHAH slar g1 3/ 4%
BT a1H U & fore 38 ufa foret fooa siaa w 9= anfee?

1.Rs.9.3/9.3 30
2.Rs.9.1/9.1 304
3.Rs. 9.4/ 9.4 3UY

4.Rs.92/92 300

Correct Answer :-

« Rs.9.1/9.1 308

9) The positions of the first and the fifth digits in the number 83156427 are interchanged. Similarly, the positions
of the second and the sixth digits are interchanged, and so on. Which of the following will be the second digit from
the right end after the rearrangement? /

HEAT 83156427 W Ugd SR Uiad 3i o1 fRUfA Y oo ® gqa g oirar 31 5301 v, g2 3R B34 i
o1 R T Fea faar sman 2, 9yt g weg Wt 9oa STdt 8 | 39 qawT & 916, 313 3R I gas Wem
fFafefEa o @ &4 @ gnft

1.3
2.4

3.1



4.2

Correct Answer :-

10) The owner of a furniture shop charges his customer 22% more than the cost price. If a customer paid Rs.
21960 for a dining table set, then what was the original price of the dining set? /

TP BHTaR BT GHT &b TP 30 TP A AN Tod A 22% 3HUd g1 agar| afe i s v s
Td A F AT 21960 TUT FT YA HT 7, Al 3 SR a0 e P qATdP PAd 971 gHI?

1. Rs. 24000 / 24000 ¥YU
2. Rs. 22000 / 22000 ¥UUY
3. Rs. 18000 / 18000 ¥UTY
4. Rs. 15000 / 15000 ®UY

Correct Answer :-

« Rs. 18000/ 18000 ¥YU

11) The difference between a number and its two-fifth is 540. What is 20% of that number? /
TP HEIT 3R SHS G1-UTad & S BT e 540 T | SH HSAT BT 20% FIT 52

1. 190

2.170

3.180

4. 160

Correct Answer :-
« 180

12) If the letters of the word TRANSFORM are rearranged as they appear in the English alphabet, then the
position of how many letters will remain unchanged after such rearrangement? /

gfe TRANSFORM X & &R ) Riei quinTen & 3=y qafafeua fasar wirar 8, dt 39 @vg & gfe
& q1¢ foram 3igR srufvafda s @72

1. Two /a}f

2. Four/dR
3. Three / T
4. One /Uh

Correct Answer :-

e One/Udh

13) The average age of 35 children of the class is 16 years. 15 more children joined whose average age is 14 years.
What is the average age of all the 50 children together? /



BT D 35 Tl DI AT 3G 16 T B 1 15 3R T H&M H A gU, st iad oy 14 a9 31 7Y 50 =1
P ST g AT ]?

1.13.4 years/ 13.4T%
2. 14.5years/ 14.5 ay
3.15.4years/ 15.4 ay
4.16.5 years/ 16.5 Ty

Correct Answer :-

o 15.4years/ 154 ¥

14) Rahul is half of his father’s age now. Fifteen years ago, he was one-third of his father’s age. How old will Rahul be
after 5 years? /

FIAT F, Tger A Far 7 oy & seft 370 7 1 I Qe w5, g Aq fUar ¥ g 7 ok fagrs am 5 9 A,
TG T oI FIT gHAT?

1. 40 years / 40 T
2. 25vyears / 25 EL)
3.35years /3599
4. 30 years / 3099

Correct Answer :-

« 35years /3599

15) ‘X’ is travelling at 54 km/hr on a highway while ‘Y’ is travelling at a speed of 20 metre/sec. What is the difference
in their speeds in metre/sec? /

X' U T34 UR 54 fpHl/eer &) Are A G H3 T6T1 8 SaiP 'y 20 HewAHs &) 91 V a1 = Ie1 81 Wew
Jbs W ITP! AT H 4T 3R 8?2

) 2%m.-'sec ! Z%Efffi‘::[

5 3% m/sec [/ 3% Hig

3.5m/sec/5 Iﬁ@
4.1.5 m/sec/ 1.5 HI/A

Correct Answer :-

. Sm/sec/SIﬁ/‘v}f

Topic:- General Science

1) Which of the following do not allow the sound wave to pass through it? /
Frafifad § @ 19 @ a3 B 59% W1erd @ [oRA B srgafa 78 dar d?
1. Liquid and solid / &d MR 314

2. Gas and liquid / T 3R &d



3. Solid and gas / 319 3R 19
4. Vacuum / fata

Correct Answer :-

¢ Vacuum / ﬁfﬁﬁ

2) Which of the following is an INCORRECT method for preventing rust formation? /
i & fmtor ot A= & forg Frafafaa § & o1 Ot ve Taa fafi 32

1. Crystallisation / [ERSRIERU

2. Putting paint on the surface of iron / Fﬁ% Gl Ydeg IR te AT

3. Galvanization / TTed1ep 0T (ﬁﬁq@?ﬂ:‘)

4, Tin plating /73|7_('1_‘.ic eIl (f%:[ @ﬁ'ﬂ)

Correct Answer :-

o Crystallisation / i

3) is the measure of water vapour present in the atmosphere. /
IHSH | HiN[g JaaT &1 AT B |

1. Humidity / 3Tl

2. Density / U-cd

3. Gravity / To@IHYUT

4. Wind speed / gdTl CARIIG

Correct Answer :-

« Humidity / 3Tsdl

4) Materials that partially allow light to pass through them are called as objects. /

T et ) 31 U UHTI B A ML ARAAR, S PpeIwargl
1. transparent / TRGRI

2. translucent / GRHTHT

3. opaque / 3TURGRIT

4. metal / YT

Correct Answer :-

« translucent / TRHTET

5) A red litmus turns blue when reacted with_____./

T ard ferens e g s 8, 9@ F |ry AfHfpaT FRaT 31
1. base / &R

2. salt / qUl



3. acid / &I
4. water / 5Tl

Correct Answer :-

o base /&R

6) Name the device which is used to measure the distance covered by a vehicle? /

TS qTeH gRT a9 &1 Tt gt &) Are & e wyad 817 ardt USRI o1 A9 Farg?
1. Odometer / 3TSIHICX
2. Speedometer/m

3. Accelerometer / Eﬂ@ﬁﬂ’;ﬁa
4. Calorimeter / %55"1 IR

Correct Answer :-

« Odometer / 3TSIHIER

7) An element X from group 14 of the Periodic table combines with another element Y from group 17. What
would be the ‘molecular formula’ of the compound formed? /

3rad AROTt & TYF 14 BT TP d@ X, GG 17 F = 7d Y & 1Y TAora grar 8 1 Fftfa 9iffre &1 - enfoas
A 1 g2

1. X7Y4

2. XY3

3. XaY2

4. XYd-

Correct Answer :-

8) The star that appears stationary and is the most shining in the night sky is: /

9% IRT Sl fRR fears a1 § 3iv 3 & wwa Smaar § qad it auewdr @:
1. Taurus / TRY

2. Sirius / FIRTH

3. Orion / 3IRTA

4. Pole star / ddRT

Correct Answer :-

« Pole star / ddRT

9) The microbe that is a biological nitrogen fixer is: /

98 gEAsia e U Afaw Argeiod fhRR 8:



1. Yeast / THR

2. Blue green algae /:ﬁﬁf& T
3. Bread mould / i€ U'qu_c{

4. Lactobacillus / AFISRIerR

Correct Answer :-

« Blue green algae /i & R

10) vitamin D is important for the absorption of ./

fefmo & srasnyor & forg wgayuf grar 81
1. magnesium/ﬁmﬁ

2. phosphorus/m

3. calcium / BTeRTH

4. iron / 3R

Correct Answer :-

. calcium / Hferaq

11) The organisms that prepare their own food arecalled____ ./
T8 ofta St ST HITH T TR PTA IS el ar |

1. chemotrophs / TS} (ﬁfmﬂ)

2. autotrophs/w (H@E’m

3. photoheterotrophs/tﬁa%aﬁw

4. heterotrophs / ORUTSY (%ﬁq_\q)

Correct Answer :-

« autotrophs / STUTNE (S{TCICTHRT)

12) Which of the following is essential for the normal functioning of thyroid gland? /

fFrafafaa & Q 919 yraRgs Uy & 9w+t & o smawas 82
1. Sulphur / HethY

2. lron /?‘ﬁ%’
3. lodine / 3MATS

4. Potassium /ﬁl’qﬂ

Correct Answer :-

« lodine / TS



?ﬁ@ﬁﬁﬁﬁmﬁﬁﬁwmﬂﬁmm%lﬁmwwﬂwﬁﬁ%ﬂw HETH
I

1. concave lens / 3[dd o

2. concave mirror / 3{ddd GUUT
3. convex mirror / 3T GUUT

4, plane mirror / FHAW GUUT

Correct Answer :-

« concave mirror / WE{&UT

14) is essential for the synthesis of chlorophyll in plants. /
tielf ¥ FRIpd & WxAwwr & g TaAD ST & |

1. Boron / IR

2. Todine / 3TATS A

3. Magnesium / iR

4. Sodium / ISTH

Correct Answer :-

« Magnesium / AR

15) Acids react with metals and releases: /

3, T3t & A1y fUfehar v § 3R 98 Iud #vd &
1. Hydrogen / 61'51_@51:[

2. Carbon monoxide / HTEH AFIHFIES

3. Carbon dioxide / BT SSHINIZS

4. Oxygen / 3fTqtor

Correct Answer :-

« Hydrogen / @ 33; 5B

Topic:- General Computer

1) In MS Excel 2010, Chart groups can be accessed from: /

THTH TR 2010 H, I I &1 981 A T9 {5 & aan 8:
1. View tab / 3 &

2. Insert tab / ET\‘Té |

3. Home tab / 33['12[ %a

4. Page Layout tab / U d3f3e ed

Correct Answer :-



o Insert tab/ QT\‘TC} °d

2) In MS Excel 2007, up to how many characters can be entered in each cell? /
THUH TR 2007 #, TS A H fbaa dvaex Gex [Py o wed 82
1.31,767

2.32,767

3. 42,000

4. 32,000

Correct Answer :-

3) In MS Excel 2010, to protect or share a workbook which of the following tabs can be accessed? /

qmm;a:ﬁazmoﬁ,waﬁmﬁﬁ%mmﬁmmﬁ%mmﬁﬁﬁqﬁﬁaﬁmmm
TPl 82

1. View tab/ & ¢

2. Review tab / ﬁ?{?‘q’

3. File tab / BTSd C&

4, Page Layout tab / U9 d3f3e oF

Correct Answer :-

. Review tab/ Rg 2a

4) In MS Excel 2010, which of the following options will highlight cells that are greater than, less than, between or
equal to values that you can specify? /

THTY TR 2010 H, Frafafaa & Q $19 91 fawea 39 30 3 grgarge 30 1 34U gR1 Ay fee e
A1 & ¥, 4, T P TR 22

1. Top/Bottom rules / Tlu/dlcH T
2. Data bars / ST a1

3. Highlight cells rules / STS@I3C T Fvey

4. Color scales / PR Theg

Correct Answer :-

. Highlight cells rules / STSTSC Yo ey

5) In MS Excel 2010, the extension for an Excel 2010 Template File is: /
THUY U 2010 H, Toh T 2010 THAIE BISd & ford TRAC T &:
1. xltm

2. xltx

3. xlsm



4. xlIsx

Correct Answer :-

6) In MS Word 2007, the ‘Quick Tables’ has one built-in option which is known as: /

THTH T8 2007 H, P oo # g faee-3 sifw (sfafifed fieeu) 8 ot sy veR s wman @:
1. Equations table / SFAR &

2. Matrix table / ﬂﬁ}m oqd

3. Formula table /UO—I%T eqd

4. Calendar / TSR

Correct Answer :-

« Calendar/ W

7) In MS Word 2010, the shortcut key used to repeat/redo a performance is: /

THTY 3 2010 ¥, T WHHY B Rfle g $37 & fore Iua &t o arell widwe $oit 8:
1. Ctrl+R

2. Ctrl+Z

3. Ctrl+Y

4. Alt+R

Correct Answer :-

o Ctrl+Y

8) Which one of the following colors is not available in ‘Text Highlight color’? /
TRE FIEAIEE Per H FufifEd # § S 91 171 Iuasy 181 32

1. Dark yellow / TTgXT dtar

2. Black / Tl

3. Violet / ST

4. Orange / IR

Correct Answer :-

o Orange /¥ o

9) Which one of the following options is NOT a proper method to view a document? /
frafafaa & & #1991 fdee ue siagiic # 3@ & e Sfua e T8 @2

1. Full Screen Reading / pcl b1 A&

2. Web Layout / CEASEIRE

3. Thumbnail View / ?ﬂﬂe{ﬁaj\



4, Print Layout / flic demse

Correct Answer :-

o Thumbnail View / U@eﬁfal

10) Which one of the following options is NOT available in MS Word 2007? /
THEY 98 2007 § fAufefRad & @ #1991 faea Suas T8 82

1. Split cells / Qe I

2. Split table / f&eTe <o

3. Merge cells / Tl O

4. Merge table / TSl oad

Correct Answer :-

» Merge table / ol 9

11) Which of the following works both as an input and output device? /
fFrafafEa § @ #19 377Ye 3R argeye fSarsd Gl & U & #T0 Hra1 3?2
1. Keyboard / Plars

2. Modem / HlSd

3. Printer / iR

4. Joystick / SiaRe®

Correct Answer :-

« Modem / ATSd

12) Which of the following is NOT an example of storage device? /
Frafaf@a & @ o9 w1 %R f¥agw o1 Igeru 78 32

1. Hard disk drives / 8TS [&%® ISIEE]

2. Mouse / HISYH

3. Floppy disk drives / FArdt fewm glkd

4. CD drives / I181 SIEE

Correct Answer :-

e Mouse / HI3YH

13) ALU stands for: /

TTAY &1 guf =0 3:

1. None of above /mﬁﬁﬁ%q@

2. Application Logic Unit / E@ﬁm’[ qrod tl;ﬁ?f
3. Array Logic Unit / 3R F‘Im“{ﬁ?



4. Arithmetic Logic Unit / 3[R dlioTe gf-e

Correct Answer :-

« Arithmetic Logic Unit / &r?fﬁ%amqﬁ?

14) What is the length and width of an A4 sheet in MS Word 2007? /
THTY T8 2007 & A4 e ) dare 3R TS AT BT 22

1.8.27x 11.69

2.8.27x 12.69

3.9.27x 12.69

4.9.27x 11.69

Correct Answer :-

« 827x11.69

15) The action ‘Ctrl+B’ makes the text in the MS-Word 2007. /
THUH 98 2007 §, TaRE ‘Ctr+B’ SRS BT gATSaT 8l

1. Bold / e

2. Zoom / G[H

3. Clear / FRIRR

4. Ttalic / 3P

Correct Answer :-

. Bold/dleS

Topic:- Commerce

1) A company has annual fixed cost of Rs.1,50,000. In the year 2016-17, sales amounted to Rs. 6,00,000
as compared with Rs. 50,00,000 in the preceding year 2017-18. The profit in the year 2017-18 is
Rs.1,00,000 more than that in 2016-17. What is the break-even level of sales of the company? /

T ST Bt aTffer TR AT 1,50,000 02 31 T 2016-17 F fabY, fUrsa adf 2017-18 & 50,00,000 T Ht
o1 H 60,00,000 FUA H1 g5 | T8 2017-18 H ATYH, 2016-17 T T ATH | 1,00,000 T 31t g1 U & fawpg
BT ATYH-EATH (FP-3a) TR FT 8?2

1. Rs. 15,00,000 / 15,00,000 ¥U&
2. Rs. 10,00,000 / 10,00,000 ST
3. Rs. 8,00,000 / 8,00,000 ¥UI

4. Rs. 14,00,000 / 14,00,000 ST

Correct Answer :-

« Rs. 15,00,000 / 15,00,000 ST



Under Section 87A of Income Tax Act, 1961, an individual who is resident in India and whose total
income does not exceed Rs. 3,50,000 is entitled to claim rebate up to a maximum of .

TS TUFTH, 1961 F} URT 874 F d8d, Th fRT o URd &1 Rt 8, ik Rryat $a 3ma 3,50,000
UL A AP S B 1 Sfrpan TP DI YT BT G191 HI BT THAR 8|

1. Rs. 1000 / 1000 YU
2. Rs. 4000/ 4000 =4U
3. Rs. 2500 /2500 =4U
4. Rs. 3000 /3000 ¥=4U

Correct Answer :-

« Rs. 2500 /2500 YU

3) Under Section 80TTA of Income Tax Act, 1961, the maximum amount an individual can claim for
interest income is L

SATAH TUFTH, 1961 BT URT S0TTA F 3iald, B e sfrpan q® 1 R & o =1 3 8
S1aT B DT g |

1. Rs. 5000 / 5000 *=YU

2. Rs. 15,000/ 15,000 *=YU
3. Rs. 20,000/ 20,000 ¥*UU
4. Rs. 10,000/ 10,000 =UUq

Correct Answer :-

« Rs. 10,000/ 10,000 U4

4) If fixed cost is Rs. 5 per unit, variable cost is Rs. 2 per unit and the selling price is of Rs. 10,
then the value of contribution is ./ 3

ﬁwﬁag}mmsmﬁuﬁrwé%,uhaﬁamzvﬁwﬁm%%eﬁ?ﬁmqﬁ 10 30 &, A e
qe__ gnm

1.Rs. 8/8 30
2.Rs.5/5%00
3.Rs.7/7%00
4.Rs.3/330

Correct Answer :-

. Rs.8/830Y

5) The opening stock of goods is Rs. 50,000, closing stock of goods is Rs. 1,75,000 and the goods
purchased during the year are Rs. 2,00,000. The cost of goods sold is: /

I BT YRS TIH 50,000 TUY §; a7 PT A TP 1,75,000 U4 3 AR a9 & IR T T
I 2,00,000 FUL | < TS g3t F AN 8

1. Rs. 1,25,000 / 1,25,000 ST
2. Rs. 1,75,000/ 1,75,000 303



3.Rs. 75,000 / 75,000 ¥UY
4.Rs. 3,25,000/ 3,25,000 ST

Correct Answer :-

. Rs. 75,000/ 75,000 304

6) Under Section 54EE of Income Tax Act, 1961, the deduction from capital gain on investment in units of
specified fund shall be maximum of: /

Wa\aﬁrﬁw 1961 Bt YRT 54EE & Siafa, ey A #Y gfael o e w geitma @ty @ siftreau

1. Rs. 4,00,000 / 4,00,000 ¥UQ
2. Rs. 10,00,000 / 10,00,000 ¥4YUT
3. Rs. 50,00,000 / 50,00,000 ¥YU
4.Rs. 1,00,000/ 1,00,000 U4

Correct Answer :-

« Rs. 50,00,000/ 50,00,000 ®UY

7) Which of the following state government’s I'T-based services and their electronic delivery is termed as ‘FRIENDS’? /
Frafafea & @ o9 3 g e 31 rEd-snuthed Jarsii 3R 37! saae e fSeiadt Bt g Fg1 9T 32
1. Karnataka / @1

2. Madhya Pradesh / H&J PR

3. Kerala / Xd

4. Andhra Pradesh / 3¢ U

Correct Answer :-

« Kerala/ ®3d

8) Which Article of the Constitution makes a provision for the office of the Comptroller and Auditor — General of India? /
fFrafafEa 3 @ S5 91 Gfaus &1 g, YR & fAuse Td Aeraaradies $0 ug & fore ue uraur 94141 82
1. 149

2. 151

3. 148

4. 153

Correct Answer :-

« 148

9) Which among the following is NOT a committee having the financial and legislative control on administration in Madhya
Pradesh? /

frr=fefaa & 9 919 @ afafy, 7o vdw & v w® facha siv faurd frsor =18 vwad 22



1. Privileges Committee / f[ARINTIIHR GfAfc

2. Estimates Committee / UTdeb i ATl

3. Public Accounts Committee/ Tl TIRAT THIC

4. Public Enterprises Committee / eI 3 It

Correct Answer :-

o Privileges Committee / faRwiiteR aftfa

10) What is the name of the account from which unforeseen expenditure of the Madhya Pradesh Government is met? /

I AT BT A1 T ¢ T 7 v =1 & SFAfda oo & OR1 faran wirar 82
1. Public Account / @I ol

2. Consolidated Account / Fferd TraT

3. Recurring Expenditure Account / 3radf ogg @

4. Contingency Account/ TH S Tral

Correct Answer :-

» Contingency Account/ HTH P Al

11) Who among the following acts as the Custodian and Trustee of public money in India? /
fFrafafEd 3§ @ $19 YRa ¥ O1F 49 & WP (@wRsa) 3R ARt @& ) & w0 d orf Har 82
1. Lok Sabha / TIep JHT

2. Revenue Minister / JTo1%d H31

3. Comptroller and Auditor — General / IGRECE2 Qa u@ﬁ@mﬁ&@

4. Rajya Sabha / X gHT

Correct Answer :-

. Comptroller and Auditor — General / O~ Td HETCRATIRI&®

12) In Madhya Pradesh, which of the following can impose tax on theatres and public entertainment? /
A9 yeu , Faffed # & o19 Arcamansi g9 Araei-e AR IR B O Gl 82

1. Janpad Panchayat / UG U=TAd

2. Zila Panchayat / fSrer damaa

3. Gram Panchayat / ITH U=TAd

4. Gram Sabha / JTH 4T

Correct Answer :-

« Janpad Panchayat / UG U=rAd

13) As per Madhya Pradesh Land Revenue Code, 1959, who among the following has the powers to appoint a
Tehsildar? /

Y WS YT W4T, 1959 F R, 3940 A fHad Uy dedfiaer e $31 @) ufemai 82



1. Divisional Commissioner / HS 3Tgad
2. Janpad Panchayat / S-0¢ U<Tad

3. District Collector / FoTel Haidex

4. State Government / XIS R

Correct Answer :-

« State Government / XIS R

14) As per Madhya Pradesh Municipal Corporation Act, 1956, the Commissioner is the ofa
Corporation. /

A Y= R Ay Sif¥ferm, 1956 & SWIR, Sgad (FHIRR) TP A &1 gargl
1. Speaker / 3{&I&

2. Convener / STIST®H

3. Principal Executive Officer / YT PHAGRY SAfABTRY

4. Chief Municipal Officer / H¥J TRUTTIDT SHABRY

Correct Answer :-

« Principal Executive Officer / UUTT FHAGRY HABRT

15) As per Madhya Pradesh Municipal Corporation Act, 1956, what is the maximum number of wards that can be
constituted in each of the Municipal area of the state? /

T Y= TRYUTFIDT 71 U, 1956 & SR, o9 & AP TR UTfardT &7 ¥ siftrwan fea-it Iemn
o a1S 1 718 o &1 aPar 82

1. 80
2.50
3.70

4. 60

Correct Answer :-

16) As per Madhya Pradesh Municipal Corporation Act, 1956, what is the maximum number of persons with
expertise in municipal administration that the state government can nominate in a Municipal Corporation? /

A W TR A siftfram, 1956 & SR, RISt wime- § faRivsrar ara safeaay ot siftrean
TE T g fore I IR, R A ® weiea e awdl 82

1.5
2.10
3.6
4.8

Correct Answer :-

)



17) How many posts of Divisional Commissioners are sanctioned at the Division level in the field offices under the
Department of Revenue in Madhya Pradesh? /

qw?ﬁmﬁm%mmmﬁmwwﬁmﬁmm%uﬁﬁwﬁﬁm
T 2

1. 10
2.25
3.15
4.20

Correct Answer :-

« 10

18) Madhya Pradesh Panchayat Raj Avam Gram Swaraj Adhiniyam, 1993 was enacted in the State after which of
the following constitutional amendments? /

frafefad A A fog Saurfe Sxn=T & 91¢ 359 A 999 UG Uarad ISl U UTH TS SIfUf=ae, 1993 &1
Siftrfrafra fosar mar ur?

1,731/ 739
2. 95t / 959
3,815t/ 819
4,751 759
Correct Answer :-
. 731739

19) Which of the following powers is NOT given to Panchayats? /
Frafafed # & o1 9@ wfemai daral o 78 & Tt §2

1. Executive powers / FHAGRY Wfaaar

2. Monetary powers / foxita wfaaat

3. Legislative powers / faurdt wfeqai

4. Supervisory powers / Tfagur faaat

Correct Answer :-

« Legislative powers / faurdt wfeqai

20) Which of the following enables policy makers to assess a project’s potential success or failure before it is
implemented? /

fFrfafea | @ i Hifa Fafaret « [t ofeiemn & an e 3 v St Syifda awaan ar fawaarn
BT ATHAT B W & TTGT1 32

1. Line-Item Budgeting / ClIg-3{ScH dolc



2. Zero Based Budgeting / {[- 3T ¥d ol
3. Performance Budgeting / e sore
4. Planning, Programming and Budgeting System (PPBS) / IS, TR 3R Fofe guret (d’fdﬂ?ﬁ@)

Correct Answer :-

« Planning, Programming and Budgeting System (PPBS) / IS, I 3R TSl goret (Cﬂ'lff@ﬁ'@)

21) Which of the following scrutinizes in detail the report of the Comptroller and Auditor — General before
submitting it to the Lok Sabha? /

?ﬂﬁ@ﬁﬁﬁaﬁqﬁaﬁm@mﬁm&maﬁﬁ@éaﬁmmﬁmmﬁﬁmmm

1. Standing Committee / Rﬂ_’ic gfafa

2. Committee on Public Undertakings / die IushHl el Tfffa
3. Estimates Committee / WTab e FTAfd

4. Public Accounts Committee / @b <@l HfHfcl

Correct Answer :-

« Public Accounts Committee / T oRal TfAfd

22) Which of the following is the nodal agency for promoting gender budgeting across sectors and at different
levels of governance? /

%&?ﬁﬁﬁﬁﬁﬁﬁﬁ@ﬁ@?ﬁ)%%ﬁ?ﬁﬁﬁwaﬁ?aﬁﬁﬁﬂwaﬁmﬁ

1. Ministry of Women and Child Development / 1:I'I%'F‘IT Td &d1d ICEARREEINE

2. Ministry of Social Justice and Empowerment / TR =g 3R SHfYGTREAT Harag
3. National Commission for Women / Tl'g:l'q ARaT SR

4. Rashtriya Mahila Kosh / ?T@’q jZI'%F‘IT ﬁw

Correct Answer :-

« Ministry of Women and Child Development / AT Ud 919 AT Haed

23) Which of the following ascertains that the money spent by the government has been applied to the purposes
and within the limits set by the grants authorized by parliament? /

frafafea ¥ A fFad 719 8a1 € 5 WReR g1 @ fPu 7T 4= &) yaieml 3 3R e gRT siftrepd
3 grT Fufia dwmei & fiaw & ary far mar g2

1. Regulatory Audit / fafames orar ater
2. Efficiency Audit / G&dT <IRGT URT&T

3. Propriety Audit / 3o ara uted

4. Appropriation Audit / Tt <rar wtenm

Correct Answer :-

. Appropriation Audit/ AT <At U=tem



24) Which of the following Acts empowers the Collector to regulate the availability of water to the public? /

frraferfad 3 @ 919 91 ififeraw, s=a1 ) Ut 3t Suasdar & fafrafia o33 3 e dagex I aare?

1. Regulation of Waters Act (Central Province and Berar Region) 1949 / S Sfefgy MH Uid 3R SRR b fafrae=
1949

2. Madhya Pradesh Irrigation Act, 1931 / H¥] g Riars sifefam , 1931
3. Madhya Pradesh Peya Jal Parirakshan Adhiniyam, 1986 / H&] o UgoTdl URREOT SHfIfaH, 1986
4, Madhya Pradesh Municipal Corporation Act, 1956 / H&] o TR 1 i, 1956

Correct Answer :-

. Madhya Pradesh Peya Jal Parirakshan Adhiniyam, 1986 / H& USRI UTeTdl URREUT SATAMFTH, 1986

25) Which of the following is NOT a function of the District Collector? /
FrafafEd # & o149 w1 v o foren sages #1781 32

1. Developmental Functions/ famr

2. Revenue Functions/ JoT%d BT

3. Judicial and Regulatory Functions / IR 3R Ao s

4. Legislative Functions / faurht st

Correct Answer :-

 Legislative Functions / faumh ek

26) Which is the comprehensive programme of the Government of India to leverage capabilities and opportunities
presented by ICT to promote good governance across the country? /

I YR T YT $ T 1aT 31 & fore st g1 uegd arvanail 3R SRl &1 a1y 38 & fre URa
PR HT ATYS HRIHH HIF IT8?

1. National e-Governance Plan / TI'@T[ %—W T

2. e-Governance Assessment Framework / é’-mm:r 3HTh - il
3. Mission Mode Projects / [ERERIE] Qﬁ'q}l\_rl:lTQ

4. Government Process Reforms / SR&RI UfehaT JUR

Correct Answer :-

« National e-Governance Plan / Tl'@'q _‘{E—W o

27) Which is the unique path breaking participatory governance initiative for effective interface and healthy
exchange of ideas and views involving the common citizen and experts with the ultimate goal to contribute to the
social and economic transformation of India? /

YRd & JrHTfore 3T 3nfdfe uftad= & aRTe @ 31 & 3ifaw 989 & 1Y A= ArTiRe 3R fagiug &
mﬁamaﬁ?ﬁaﬁ%uwmaﬁ?wm&aﬁ%ﬁmwmmmwﬂ
Apdd P ATE?

1. MyGov / IS



2. GKC / St it
3. e-Office / 3-PTATE
4. M-Governance / @-TIHTTFH

Correct Answer :-

o MyGov/ IS

28) Which Parliamentary committee members are elected or appointed every year or periodically and their work
goes on a continuous basis? /

mﬁwm%wmﬁmw-mwﬁmﬁmmm?mmmmmm
W ?

1. Standing Committee / RI'I_Sc gfafa
2. Financial Committee / fa<iia affifa
3. Rules Committee / 1 Tfffd

4. House Committee / G- TAfdl

Correct Answer :-

« Standing Committee / BRI

29) Which bill authorizes the withdrawal of the funds from the Consolidated Fund of India? /
o1 91 f3d9s WRa o i Ay @ o= Frerh o1 R gar 2

1. Money Bill / & fa8a®

2. Constitutional Amendment Bill / AT TNeH fadas

3. Appropriation Bill / fafam fadas

4. Finance Bill / fac fagda®

Correct Answer :-

« Appropriation Bill / fafram fadas

30) is the Chief Mining Officer of the district and exercises powers to grant prospecting license and
mining lease under provisions of the Mines and Minerals (development and regulation) Act, 1957. /

et &1 qRe1 W= ifUe T gYar 8 3R @ vd @fhw (e ok fafvaw) siftfSam, 1057 &%
ATl & ded THTAT AT3A 3R W= UgT i Wpd H1 & fore fawaal &1 ST sar 21

1. CEO - Zila Panchayat / BIES M EEICEIRE]

2. Mines Secretary / W g
3. Mines Commissioner / 9T 3{dd
4. Collector / HAFEI

Correct Answer :-

« Collector / HATE



31) is the District Environmental Protection Officer under Section 4(1) of Environment Protection Act,
1986. /

TITEROT WRET ST, 1986 BT URT 4(1) F qg Fore wataror €& SRBRY, ___ gar gl
1. Secretary, Environment and Forests / ﬂﬁl_d, gTaRuT 3R 9

2. Chief Conservator of Forests / 73T - TR&H

3. Collector / HeideR

4. Environment Commissioner/ GGTaRUT ST ad

Correct Answer :-

« Collector / HAGE

32) A new Gram Swaraj system was introduced in Madhya Pradesh by enactingthe ./

1 3Wd H ATd §U A USRI H T 3 UTH TaRTST YUITelt = @1 7S At

1. Madhya Pradesh Panchayat Raj Avam Gram Swaraj (Sanshodhan) Adhiniyam, 2011 /
T TR Uad I11 T I RIS (I=ne) Sifefam, 2011

2. Madhya Pradesh Panchayat Raj Avam Gram Swaraj (Sanshodhan) Adhiniyam, 2001 /
A USRI UATad 7o Ud I1H WIS (=0e) s, 2001

3. Madhya Pradesh Panchayat Raj (Sanshodhan) Adhiniyam, 2016 /
T TR Uad I1oT (FRNeA) Sifefam, 2016

4, Gram Swaraj Adhiniyam, 2001 /
T TR 3fAEH, 2001

Correct Answer :-

« Madhya Pradesh Panchayat Raj Avam Gram Swaraj (Sanshodhan) Adhiniyam, 2001 /
e Yo U d 7ol Td UTH TaRTe! (F=Ne) Sffam, 2001

33) Under which of the following does the collector have the power to complete unfinished Settlements
proceedings pending before the Settlement Officer? /

fFrafafEa o @ frud ded Faeer B I<Iaw e & JHe dfad rquf deiava srdarst &) T &1
F il Ut gt 82

1. Madhya Pradesh Land Revenue Code, 1959 / A& U&= Y- ToRd Wfgd, 1959

2. Madhya Pradesh Municipal Corporation Act, 1956 / H¥] e R e i, 1956

3. The Madhya Pradesh Rajya Suraksha Adhiniyam, 1990 / H&] PERRI qRE iR, 1990
4. The Essential Commodities Act, 1955 / 3{[dR D d¥] &fﬂﬁ’q'q, 1955

Correct Answer :-

« Madhya Pradesh Land Revenue Code, 1959 / ] Uex L SISAT ‘Gﬁ%?ﬂ, 1959

34) Under which Article of Indian Constitution, can the state legislature endow powers to Panchayats to enable
them to function as self-governments? /



YRATT \faU™ & {5 srfwdg & dgd, I faur-ded, argdl &1 Jfdadi UgH ®Rdl g difd 9 Ta4-Rma=1
P =9 H p1d B IH?

1. Article 243G / 3JT9G 24350
2. Article 51A / 3{J%5¢ 51T

3. Article 81 / 3G 81

4. Article 343 / 3TT5G 343

Correct Answer :-

« Article 243G / 3G 2435H

35) What is the constitutional terminology for Budget? /
gore & forg Haurfe uikwifs g w132

1. Annual financial statement / TS faiia &R

2. Statement of balance sheet / S0 ¥fte &1 &RT

3. Statement of income and expenditure / 3T 3R R BT RT
4, Capital and revenue account / Ufrﬁ 3R ToRG T

Correct Answer :-

« Annual financial statement / AT faTiT SIRT

36) A corporation under Madhya Pradesh Municipal Corporation Act, 1956 may be constituted for a large urban
area to be notified by: /

He U TR o aififerad, 1956 & d8d Ue A, et & gRT St #73 WR oo 9 wedt &9 & e
nf&a foar o gear g:

1. Revenue Minister / JTo&d HT

2. Chief Minister / T&IHAT

3. Chief Revenue Commissioner / J¥H XTSI¥T T

4. Governor / XSIUTAd

Correct Answer :-

« Governor / ISTUTA

37) According to the Madhya Pradesh District Planning Committee Act 1995, who is empowered to act as the
Secretary of the Zila Yojana Samiti? /

T g e ayer afifa s, 1995 & e, forem aiern afafa & afta & o 8 o1 33 &1
ARPR ford 32

1. CEO - Zila Panchayat / ‘v‘ﬁ’{f&ﬁ — frer d=mad

2. District in-charge Minister / forer gyt ==t

3. Collector / HaideR

4. Chairman — Zila Panchayat / 3&I&l — fSrer damaa

Correct Answer :-



« Collector / HaIae

38) Any casual vacancy in the office of an auditor can be filled up by the .

TP a@T Uiae & praterd # feet of sifraa Rfda #1 & GRT WRT &I 9PaT g |
1. Board of Directors / %@ Hed

2. Minority shareholder / 3{cURAD JIRYRE

3. Senior Auditor / AN TUATURIEH

4. Shareholder / —ATRYRD

Correct Answer :-

« Board of Directors / [FI¢RI® ASd

39) Who observed that Comptroller and Auditor — General of India shall be the most important officer under the
Constitution of India? /

?WM%W#&W%WWQFWWW&WWWWM

1. Jawaharlal Nehru / STATER @1 A8

2. Dr. Rajendra Prasad / 81 oI U4IG

3. Dr. B.R. Ambedkar / ST &l. 3R, 3FESHT
4. K.M. Munshi / & T, =i

Correct Answer :-

« Dr. BR. Ambedkar / ST &, 3R, FISH

40) Who is the Chairman of Public Accounts Committee of the Parliament? /
|G 31 AP AET AHFA S A DI g2

1. Prime Minister / T&ITH 31

2. Member of the opposition / [dU& & Taxd

3. Member of the ruling party / RIIAP cl & qo

4. Cabinet Secretary / Ffae gfig

Correct Answer :-

« Member of the opposition / fque & Te@

41) Who recommended performance budgeting in India? /
HRA § T seifer Y erg=iv fam 3t

1. Administrative Reforms Commission / URIIH® JUR 3TN
2. General Purposes Committee / THIRI PRISEEIEIR]

3. Parliamentary Committee / Tod giafa



4. Finance Commission / fa< 3R

Correct Answer :-

« Administrative Reforms Commission / T JUR 3TN

42) Who has got the sole and final power in deciding whether the Bill is a Money Bill? /

1S e, v Rdas & 1 78Y; gweT Fofa A9 3t wear o sifaw afd frads o gt @2
1. Speaker of the Lok Sabha / AHTHT & 37eme

2. Prime Minister / T

3. Cabinet / AAHSA

4. Chairman of Rajya Sabha / JIed 9HT & Ui

Correct Answer :-

« Speaker of the Lok Sabha / AIHTHT & 3reme

43) Who prescribes the form in which the accounts of the Union and State are to be kept? /
Y 3R 9 & AGT B fohd U | 7@ 9T 7, 98 A Fuiiva sears?

1. President of India / HRd & TIE'QﬁT

2. Attorney General / e s Ra

3. Controller General of Accounts / ORaT ]:Igm

4. Accountant General / AETCRATATA

Correct Answer :-

« President of India / HRd & Tl'gclﬁ[

44) Who appoints Comptroller and Auditor — General of India? /
YR ¥ Faae vd agraaradies & i @19 srare?

1. President / TI'Q;‘TI%T

2. Chief Justice of Supreme Court / Hate e & q=0 iy
3. Vice President / W-mﬁf

4. Governor / AR

Correct Answer :-

» President / mﬁ

45) Who suggested the logic of deficit financing to fight cyclical depressions in capitalist countries and to eliminate
mass unemployment? /

Yoilardl SN & Ip i Sa¥Te | @S 3R o RISHINI & W H31 & I u1e 31 fad sqawin & adb &1
gaa foea fean

1. Adam Smith / Q@q@u



2. Karl Marx / Tdl AT
3. .M. Keynes /. TH. F
4. Amartya Sen / 3 o=

Correct Answer :-

o JM. Keynes /9, UH. Hg

46) Rules 97-98 of Madhya Pradesh Nagar Palika Lekha Niyam, 1971 provides for___ :/

A U TR UIferspt a@r fd, 1971 F Aaw 9798 F @ yau= @:

1. The allocation of government grants to Nagar Panchayats / TR UrIdl D WHRY 3‘del"|\l' T 3MTdc

2. The reconciliation of balances of Cash Book and Bank Accounts / Tda] dal 3R 9% Wl & AW (éﬁm DT JHTYUTT
3. The auditing of expenditure by the state governments / X ! §RT oY T TRaT TRI&q0T

4. The usage of computers for accounting in Municipal Councils / TRUIfcRT gyl & el & 1%111 m Eal
JUAT

Correct Answer :-

« The reconciliation of balances of Cash Book and Bank Accounts / &a] Q_E?[ 3R § WIdl & Ay (éﬁﬂ) D HHTYTT

47) The executive cannot spend the public revenue without the sanction of i

FHRIUTI®T B Hefl & o i e @ gt B TPt 7
1. President / TIE;CI'[%T

2. Ministry of Finance / [ad Tierd

3. Parliament / 999G

4. Comptroller and Auditor General of India / HRd & 3% Ud HECIATIRI&EH

Correct Answer :-

« Parliament / §9G

48) The fundamental trait of programmability of a computer is provided by ./

T HYEX B NI 1 Ft &al (umAffrd) St Atvar_ gRIvgHE S s 21
1. Hard Disk / BTS %@

2. RAM /XH

3. CD-ROM / 81311

4. CPU / HIUIg.
Correct Answer :-

. CPU/{IGY

49) The field that studies Central/State/Local Government Finances is: /

9T &7 W PSRRI/ AP o< BT 3e7gq Hdl g:



1. Institutional finance / GRITTA fad

2. National finance / Tl'@'q fad

3. Financial management / [ERIREEUE]
4. Public finance / e fax

Correct Answer :-

« Public finance / @b fad

50) The output of the factory is 2000 units and the expenses are as follows:
Fixed cost — 10,000, variable cost — 8000 and semi-variable (40% fixed) —9000.

In April 2013 if the output is likely to increase by 500 units, then find the budget or estimate expenses.

TH HREM BT IATE (TSTYS) 2000 IPTS 8 MR W FAUTIAR §:

T @RTd - 10,000, TRGTIT AT - 8000 3R Sref-uf¥ad=a (40% T - 9000.

30 2013 H, TfS ST 500 IHTSU aP Tt DI HHTIAT 8, oY Foie a1 g1 a7 fApiferg|
1. Rs. 22,250 / 22,250 30

2. Rs. 30,350 / 30,350 UL

3.Rs. 21,250 / 21,250 ST

4. Rs. 20,250 / 20,250 3T

Correct Answer :-

« Rs. 30,350 /30,350 34T

51) Directive Principles of State Policy is contained in of the Constitution of India. /
I & Hifd e a@, yRdlg dfaus & A faRaga gl
1. Part VI/ HII T VI

2. Part IV/ HIT IV
3. Part 1l / HIIT 1

4. Part Il / HIIT 1l

Correct Answer :-
e PartIV/HFTIV

52) A duty of an auditor to verify whether loans and advances have been properly secured or not is
referred as ./

TP AT TH&® BT Hood T8 T B ¢ 1o BT 3R Rl &) 9 a8 @ WRidra fbar man @ a1 71,
Cal & =q # Yehfa frar srar 21

1. statutory duties / Tifafde Haai
2. contractual duties / TfdeTd® Hoaal
3. certain duties imposed by legal or court decisions /Wﬂ\:ﬁtﬂ W%ﬁﬂflﬁm SRIIY W@W



4, duties arising out of professional etiquette / I RICFR 9 I4d HddA!

Correct Answer :-

. statutory duties / Tifafi® wdal

53) Mr. Z is the first inventor of the invention and whose name is entered on the Patent register as the
patentee (as owner or co-owner of a patent) in accordance with the Patent Act, 1970. Find the
maximum deduction he can claim for income earned from royalty? /

1. z fft ifaspR & ugd sifaseR® 7, ok 9ee siftfeam, 1970 ¥ gUR Tadt a1 U3 (Ude & @it ar
-l & ¥U H) F Tu H 9T IR W IJST AT ol forar a1 8 | aedt A 3ifofd 3ma wr ag siftrean
FHerdt J1d B3, FoRId e a8 grar + 9@d 82

1. Rs. 20,000 /20,000 =UUQ
2. Rs. 4,00,000 / 4,00,000 *UUY
3. Rs. 50,000 / 50,000 *=>YU
4. Rs. 3,00,000/ 3,00,000 =U4Y

Correct Answer :-

» Rs. 3,00,000/ 3,00,000 =44

54) Batch costing is applied in industries L

Y INTd 31 SN A a1 P oIreht @

1. engaged in construction industries /Gﬁﬁﬁmmﬁﬂﬁ@%‘.l

2. engaged in service industries/ﬁwmﬁaﬁ@%l

3. where distinct products are produced / 5g1 fafRIy STl &1 I@Te gl 8

4. where identical products are produced / S8l JH IdTGI & IdTe BIdT 3|

Correct Answer :-

« where identical products are produced / STl HIH IdIGI BT TG Eﬁ?ﬂ%l

55) As per Section 143 of the Companies Act, 2013, the primary objective of auditing is to: /
HU AT, 2013 F URT 143 F SR, AW Ue ST WAfde Iexa A= 8:
1. Detect fraud and hold the responsible person /
RATYSY BT IaT AT SIR fHER afad & uawsHl
2. Detect and prevent errors /
T BT YT I Td AT
3. Detect and prevent frauds /
YRATYST T gdT T TG AH1|
4, Report financial statements that give a true and fair view of the state of the company’s affairs /

Y foxftg 0N 1 R 31 ol Bl & arma o RIS &1 3 3R Fsgey i aar gl

Correct Answer :-



» Report financial statements that give a true and fair view of the state of the company’s affairs /

U faciia <R Bt RUIE ST S ruf=rat & Jrel o) RS o7 9 ik Fsger efPeiur qar gl

56) A firm selling price of each bulb is Rs. 200 and variable cost is Rs. 160. The company is also
incurring fixed expenses of Rs. 50,000. Find out the total required sales to be made to earn profit of Rs.
10,000. /

T BH & YA ged $T fIha ged 200 T § 3R uRad=-a anTa 160 FU> g1 HU 50,000 UL F TR
T M B3 T B 110,000 FTA T ATH FUM & T a1 smaxgs fawt &1 uar g

1. Rs. 2,50,000 / 2,50,000 ¥
2. Rs. 2,40,000 / 2,40,000 ¥Ud
3. Rs. 3,00,000 / 3,00,000 ¥
4.Rs. 2,00,000 / 2,00,000 ¥

Correct Answer :-

« Rs. 3,00,000/3,00,000 393

57) As per Income Tax Act, 1961, the maximum amount of entertainment allowance exempt from tax is

.

TP AFUFTH, 1961 F AR, PR Gad ARG YT ot Siftrpau R 21
1. Rs. 1000 / 1000 &Y
2. Rs. 4000 / 4000 Y
3. Rs. 5000 / 5000 ¥UY

4. Rs. 2000 /2000 ¥YU

Correct Answer :-

« Rs. 5000 /5000 YU

58) As per section 141(1) of the Companies Act, 2013, a person shall be eligible for appointment as an
auditor of a company only if he is a/an .

HU-T R, 2013 B URT 141 (1) F FIR, HIS AfR Th HU & d@TIRIEP P ¥ A fFgfaa & fore
Faa ot ur ghm, A} T v g

1. qualified cost and management accountant / T ARTA 3R Y& ARATHR
2. qualified chartered accountant / g A1és Udhldce

3. qualified company secretary / O1g Ut gfea

4. any Indian resident /?ﬁﬁ It YR

Correct Answer :-

. qualified chartered accountant / 4% AICS ThTdce

59) Tax planning is a way to reduce tax liability by: /

P FraeE, fAeT & gIRT $R-3dT &1 HH HI BT T DT &



1. Taking full advantages provided by the Act through various exemptions /
fafirer el & ATed W SHfUfgH gRT e foar T Siftedd ay SorT |

2. Not reporting actual income /
ARAfID 3 B ROIE T B 31

3. Deliberately suppressing income or sale or by increasing expenses /
SR 31T 1 faeh! SaaH 1 T Bl dgIHe |

4. Suppressing income arises from other country /

3G 0§ 811 ITelt 31T &Y &M

Correct Answer :-

« Taking full advantages provided by the Act through various exemptions /

faftrar 92l & wrens ¥ Siffom gR1 ve™ fan man sifdean |y ST

60) The arrangement of accounting work under which the work of one person comes under another is
known as: /

AGiH Fd Pt gawT ORI Siala U i &1 w1 gak & i amar 3, 39 =1 & 0 o W o 2
1. Internal control / 3idike fT=0T

2. Internal audit / 3{idfRes ciam oigm

3. Internal check / 3fidRe Sfid

4. Management audit / J&& @ TR1ef

Correct Answer :-

« Internal check / 3TdR® Sid

61) Long term capital loss can be set off only against: /

ddeie e sad_ & gorad gfaurd (I 3i1®) g aadi ¢
1. Long term capital gain /WWWN

2. Income from house propedy/ﬂ?ﬁ@ﬁ@ ST

3. Income from other sources / 3= Hidl I 31

4, Salary income / da 3T

Correct Answer :-

. Long term capital gain / SrH®IfeIe YSINTd TH

62) Indirect cost is that cost incurred by the firm which .

3ycaes arTd fohdt Wil g1 @d & g% 98 ara gt 8 S |

1. has already been incurred and cannot be avoided / Gﬁﬂ?ﬁ%ﬁmﬁﬂﬁ% 3R ITY <TaT Aa! off Wbl g1
2. can be easily traceable to a product / mﬁﬁ%m%ﬁaﬁmm%

3. are common to several products / ®s IdTal & T THHE Bl B



4. are aggregate of variable cost / IR AT BT UIANT §1

Correct Answer :-

. are common to several products / &3 IdTe] P T UM Bl B

63) Mr. A let out his house to a company for Rs. 15,000 per month. The municipal tax paid by him is Rs.
5000 per annum and the interest on loan is Rs. 40,000. The taxable income of house property will be
.

1. A 9 319AT TR T HUH B 15,000 9T Ui ATE & FRaa | fHhwme w faan 39% gr1 ufaad Y fear
gﬁwmﬁwmmovﬁﬁmwmm,ooom%lwaﬂ@qﬁraﬁm!ﬂwm
|

1. Rs. 86,500/ 86,500 =UU

2. Rs. 82,500/ 82,500 *=YU
3. Rs. 72,500 / 72,500 *=>YU
4. Rs. 76,600 / 76,600 >UU

Correct Answer :-

» Rs. 82,500/ 82,500 =UU

64) Cost Accounting Standards (CAS) had been issued by: /

AT SrET "I (HeeH) i gRT ot ford 1 2:

1. The Institute of Cost Accountants of India / HRTT AT ARATHR TR

2. The Institute of Company Secretaries of India / YR - Gl TR

3. The Institute of Chartered Accountants of India / HRTII Ta] ARETHR HRIH
4. The Ministry of Corporate Affairs / HIGRe AHA & T

Correct Answer :-

. The Institute of Cost Accountants of India / HRAIT ARTd ARATHR TR

65) Cost auditor has to submit his report to the Board of Directors who in turn shall file it with the
Central Government within i

ARTA ST T 3 - RO e ded &) of| - g1 & R 3= 95 IWeR 3t ¥
R BIed HRATEAT =

1. 60 days of the receipt of the report / frard ot oifig & 60 foT
2. 120 days of the receipt of the report / o ot ot & 120 faA
3. 90 days of the receipt of the report / f¥ure ot oifig & 90 foT
4. 30 days of the receipt of the report / f¥ure ot mifta & 30 foT

Correct Answer :-

« 30 days of the receipt of the report / UIE o1 UTfe & 30 fa

66) Under Section 54 of Income Tax Act, 1961, deduction for capital gain can be claimed only if: /



STIAP ATUTH, 1961 DY YRT 54 & Iaid, GoINTd aTH & AT HETdl &1 grar daa gt foan s awarg,
afe:

1. Any long-term capital asset is transferred / foreht ddaprfera q\Trfﬂ'Iﬁ Tufy & eraRd faar S ]
2. Any capital asset is transferred / il UOGﬁTIH U & eraid fasan ST g

3. Any short-term capital asset is transferred / ot sreuaTierd Trﬁ?'l'cf Ul &1 sf=alkd fobar Siran %I
4. Residential house is transferred / AT HHTH o1 3= foar Sran %I

Correct Answer :-

. Residential house is transferred / 3TARIT AbT B =<Rd fbar S1dT g1

67) Cost audit is to be conducted by a cost auditor who is a/an i

TN AT TG T ORI AT WRIa® gRT Saifora 3t &l 91y ot g Gl
1. qualified cost and management accountant / I AT 3R Yt TRaThR

2. qualified chartered accountant / WWW

3. qualified company secretary / Irg -1 gfaa

4. any Indian resident / His t yRdta fAard

Correct Answer :-

« qualified cost and management accountant / TG T 3R UsEH A@THR

68) The main purpose of propriety audit is to check: /

SN AETURIe BT YT ST = F &g HRAT 8-

1. Cost records / ANT RBIS |

2. Transactions have been done in conformity with established rules /a:@_"f, Y Al & WWW%I
3. Review of the systems and procedures of an organization / T T3 B! gumfera 3R feraraif ot wfter|

4, Ratio of the amount of acceptable goods and services produced /Wﬁﬂ@?ﬂﬁaﬁ@f 3R Jareff & AET
DI AHJUId|

Correct Answer :-

« Transactions have been done in conformity with established rules /a:@_"f, I Al & WWW%I

69) According to the Constitution, which fund will be under the control of President of India? /
WY & SR, B W AR R gufy & iz A g 32

1. Public Provident Fund / ¥iep Hidsg ey

2. State’s Consolidated Fund of India / HRd o g $1 Al (T

3. Contingency Fund of India / HRd DI B DH Y

4. Consolidated Fund of India / HRd &1 Sferd A

Correct Answer :-

« Contingency Fund of India / HRd 1 3fTehHehdl fAfe



70) Fundamental Duties was included in the Constitution through the Amendment adopted in 1976. /

1976 § (U T TR & ATead | AU o gayd wdaal o1 midre fosar war am
1.56% / 569

2. 4204/ 499

3.320d /309

4,47/ 479

Correct Answer :-

. 420 408

71) On which of the following subject matters does the Rajya Sabha have precedence over the Lok Sabha? /
Frafafea o @ fra favg-ag = TsaayT &) deaun @ it gur=ar & wrd 82

1. Creation of All India Services / 3RIT YR HaT3fi &1 Jold

2. Motion of Impeachment / 'JZI_E)'Tf\'J-l'ChT[ CARESIE]

3. Ordinary Bill / 99 fagae®

4. Money Bill / & fagges

Correct Answer :-

« Creation of All India Services / 3RIT HRcT YTl BT SR

72) Which case is famously referred to as the Judges’ Transfer Case? /
5T ara 31 Ul ¥ & =i & ®IFEaR ATHa (@ S W ) $ U § 1 ST 82
1. In re Special Reference 1 of 1998 /
1998 & G faRy g 1 &
2. SP Gupta vs. Union of India /
T e S g St Sfsa
3. Subramanian Swamy vs. A. Raja/
GSHUGH WH! S T, ST
4. Supreme Court Advocates-on-Record Association vs. Union of India /
Correct Answer :-

« SP Gupta vs. Union of India /

T T - AT S sfear

73) Which Amendment of the Constitution gave Constitutional Status to Panchayat Raj Institutions? /

Tfaem & forg Ixea & Yamad I SR @) JauTf—e gut fear war ur?



1. 641/ 643

2. 100t / 1009
3,731 /739
4.3/ 3%

Correct Answer :-
. 7317739

74) A Public Interest Litigation can be filed before the Supreme Court under which of the following Articles of
Indian Constitution? /

W#@ﬁm%ﬁwﬁ@aﬁﬁ%@%mwﬁaw%wwwmmﬁmmﬁ
ST gl 82

1. Article 32 / 3G 32
2. Article 31 / 3J®G 31
3. Article 226 / 3J®G 226
4. Article 141 / 3&5¢ 141

Correct Answer :-

. Article 32 / 3G 32

75) The office of the Comptroller and Auditor - General of India is established under which of the following
Articles of Indian Constitution? /

YR Idfaum # fFA=fafeaa o @ 5w srgsde & d8d URa & e td aeraariies 1 sriaq
wyTfud forar mar 82

1. Article 149 / TG 149
2. Article 148 / 37J®5G 148
3. Article 146 / 37J®5G 146
4. Article 147 / 3]®5¢ 147

Correct Answer :-

. Article 148 / 3G 148

76) The Attorney General for India is appointed by the President under which of the following Articles of Indian
Constitution? /

YRetg w@fau & Fafafad § @ 5 g & ded TPul gR1 YRd & gTaraard) (3Tl wka) Bt
frgea fear sTar 82

1. Article 76 / TG 76
2. Article 74 / 3J®5G 74
3. Article 75 / 3¢ 75
4. Article 78 / 3@ 78



Correct Answer :-

. Article 76 / 3TEE 76

77) Which of the following is not a writ covered under the Constitution? /
Frafafed # & o1 9y & qga e o e 76 32

1. Writ of mandamus / TRATGRT Re (ﬁ_c.r 3 ﬁm

2. Writ of locus standi /ﬁefﬁﬂefav_ 3HfIPR Bt Re (ﬁ_cr WWQ@E‘)

3. Writ of certiorari / SSIVUI-arg (e 31 Eﬁf@hﬁ)

4. Writ of prohibition / Ufa¥e fe (e sifw Uifgfawm)

Correct Answer :-

o Writ of locus standi/ﬁﬁﬂﬁ%%ﬁﬁf(ﬁ?wmm

78) Which of the following states has a bicameral legislature? /

frrafafaa & A foa 30 A ve fgagaras fauavea @2
1. Kerala/w

2. Gujarat / T]oIRTd
3. Assam / 39H

4. Karnataka / FHlch

Correct Answer :-

« Karnataka / P-Ilch

79) Which of the following Articles of Indian Constitution empowers the President to appoint the Prime Minister?
/

HR \@faur & Frafafaa 9 @ o1 a1 s vyufa o1 yuras fFgea o33 @1 sRer a2
1. Article 71 / 3fT5G 71
2. Article 77 / @G 77
3. Article 73 / 3 ®5¢ 73
4. Article 75 / 3{T&5G 75

Correct Answer :-

. Article 75 / 3T®¢E 75

80) Which of the following is NOT involved in the election of the President of India? /
Frafafed § 9 o7 wRa & gl & gama & nfte T8 far 32

1. Members of Lok Sabha / Tidh GHT o G

2. Members of Rajya Sabha / IS YT & g

3. Members of Legislative Council / faumoRue & Jew



4. Members of Legislative Assembly / f[AUTTHT & g

Correct Answer :-

« Members of Legislative Council / fauruiug & Jex

81) Which of the following emergencies has never been imposed in India? /
YR ¥ fFr=fafaa & @ o= a1 smuraeTa w1t ang 7 gem

1. State Emergency / XY HUTdhTcT

2. None of the above / E:FET J ﬁ_sf :E?f

3. Financial Emergency / fawitg sardeTa

4. National Emergency / Tﬂ?jq TP

Correct Answer :-

« Financial Emergency / fawiig siuTdeTa

82) Which of the following is enforceable in a court of law? /
FrafafEd # & o1 ey § yada 82

1. Fundamental Duties / Hfcies deicd

2. Fundamental Rights / fere fIeR

3. Directive Principles of State Policy / JIsd ¥ Hifa-Fdee aa
4. None of the above / 31:@3?[ 73 aﬂé :@jf

Correct Answer :-

» Fundamental Rights / fere fIeR

83) Who is the present Comptroller and Auditor General of India? /
HRA & qIAM RIS U9 TeTa@TRI® S 82

1. Shashikant Sharma / RTR1e1d T

2. Rajiv Mehrishi / Ioid A8

3. Hasmukh Adhia / S99 31

4. Kiran Bedi / {9 9t

Correct Answer :-

« Rajiv Mehrishi / Jroitg e

84) Which Schedule of the Constitution provides for Anti-Defection Law? /

ey ot {5 St # ga-gqa faRieht S (T f$har™ &) &) wer forar mar 32
1. 10t/ gat

2.7/ Gradt



3. 314/ AT
4, 15t/ ggal

Correct Answer :-

. 10t/ ggdf

85) Which Schedule of the Constitution covers the power of Panchayats? /
AU Bt S W gt § vamaal @Y =fdd o wmfde e man g
ILYAIEL

2. 10t/ 10

3,12t/ 12

4,314 /3%

Correct Answer :-
o qrthy @

86) A Special Leave Petition can be filed in the Supreme Court under which of the following Articles of Indian
Constitution? /

YR wfaem & il # @ 59 srgsde & ded vata <amarey ¥ ue IRy srgafa aifet &) iR
forar oI aPar g2

1. Article 129 / 3G 129
2. Article 130 / 3J®5G 130
3. Article 136 / 3J®G 136
4. Article 28 / 3TT®5G 28

Correct Answer :-

. Article 136 / 3T®E 136

87) State legislature may impose restrictions on trade, commerce and intercourse under which of the following
Articles of Indian Constitution? /

YR wfaem & Al 3 @ 59 s & ded Iy RuH-Asd, samuR, 1oy $ik THR™ )
e @ 9ol 82

1. Article 400 / 3{TEG 400
2. Article 319 / 3J®5G 319
3. Article 288 / 3J@5G 288
4. Article 302 / 3FTE5G 302

Correct Answer :-

. Article 302 / 3G 302



88) What is the time limit prescribed for calling the first meeting of the Municipal Council in Madhya Pradesh
after the general election? /

3T Y19 & 918 HeA YR W TWRUTRIST ufiug Y ugeht do game oM & fore frufiva s Sarwm @2
1. 30 days / 30 fa

2. 14 days / 14 f&

3.7 days /7 f&d

4. The day next to declaration of results / GRUTTHI & BT 811 & 3FTd faA

Correct Answer :-

. 30days/30feT

89) Which is the mechanism to connect the government directly with the citizens across India by running mailer,
outbound dialing and SMS campaigns? /

AR, ATICASS SHTHT 3R THTHATH SAFHA TATHY HRd HR § ANTRS] § WY TRPR B sire aren
T DI AT 8?

1. e-Sampark / Ef-?rqa‘?
2. Open Data Initiative / 3 eT Ugd

3. e-TAAL / 3-dTd
4. Social Media / I HifSAT

Correct Answer :-

o e-Sampark / %—W

90) In which of the following judgments did the Supreme Court put a cap on the upper limit of quota for
reservation? /

fa fAofa o wata araTed A Rev & g Hier Bt Hudt i w Ae @ d &
1. Kesavananda Bharati vs. State of Kerala / HRIATG HRal §-TH B 54

2. Indra Sawhney vs. Union of India / 's-ﬁ?T W:ﬁ T YR 99

3. Balaji vs. State of Mysore / CINISICRIE] ﬁﬂg Y

4. T. Devadasan vs. Union of India / €. SaGRI -0 YR T4

Correct Answer :-

« Indra Sawhney vs. Union of India / g fax ng:ﬁ I YR g

91) Under which Article of the Directive Principles of State Policy was the Panchayat System espoused? /
I & Hifd e aq@l & 69 sgwe & dgd darad yome & wad= fear mar ur

1. Article 40 / TG 40

2. Article 48 / 3G 48

3. Article 43 / 3]G 43

4. Article 46 / 3G 46



Correct Answer :-

. Article 40 / 3T 40

92) Under which of the following Articles of Indian Constitution can the President of India promulgate an
Ordinance? /

YR Afau™ & frfafad & & fa srwde & d8d YRd &1 ¢ uld, T T I AIRI H Tl 82
1. Article 124 / 356 124
2. Article 126 / 3J®5G 126
3. Article 123 / 3J®5G 123
4. Article 125 / 3J®5¢ 125

Correct Answer :-

. Article 123 / 3Jw5G 123

93) Who administers the Oath of Office to the President of India? /
YRA & Ul F S Ue-vuy feamar 82

1. Chief Justice of India / HRd & o RIDEIN]

2. Attorney General / e G |

3. Speaker / & (WIH)
4. Vice President / 3U TI'QA'CIﬁ‘T

Correct Answer :-

« Chief Justice of India / HRd & s RIDEIR

94) A ‘Money Bill’ can be introduced in which House of Indian Parliament? /
HRAT 6§9¢ & [ e § @& o fadae &1 91 fovan o1 apan 32

1. Lok Sabha only / Rt @ Ty

2. Both Rajya Sabha and Lok Sabha / TS JHT 3R T JUT A

3. Rajya Sabha only / 4t =g Iy
4. None of the above / ST H I aﬂ's‘ 7‘|€f

Correct Answer :-

« Lok Sabha only / Rt eies T

95) According to the Constitution, which of the following is no longer a Fundamental Right? /
R & R, Frafif@d # § $19 91 v At Sfrer T8 3@ 22

1. Right Against Exploitation / 0T & FIATh ISR

2. Right to Personal Liberty / T WA DT HABR

3. Right to Property / il &1 HYBR



4. Right to Freedom of Speech and Expression / HTHUT 3R YT I A BT SYBR

Correct Answer :-

« Right to Property / Tty &1 SHfYBR

96) In Madhya Pradesh Government, Token Demand is a demand made to for a nominal sum.
A YW WA ¥, A f3uis, ¥ forg wivht o arelt uo Angeh Tk 31

1. Head of the Department/ faummee

2. Govt. of India / HRd AXPR

3. Legislative Assembly / faum g

4. Finance Department / fat faum

Correct Answer :-

« Legislative Assembly / faem gy

97) In Madhya Pradesh Government, the expenditure sanctioned as a lump sum charge, whether the money is to be paid as
a lump sum or by installments is known as: /

A YT XM H, THYRA AN & &9 § Wigpd g, 18 U1 B THYRd a1 fhzal §RT YiaH fear s g, e &
9§ ST ST 8:

1. Recurring Expenditure / At T
2. Revenue Expenditure / XTSIy
3. Non-Recurring Expenditure / 3Aadf oy

4. Capital Expenditure / Q\Gﬁ qyg

Correct Answer :-

« Non-Recurring Expenditure / 3adf g

98) In Madhya Pradesh Government, what is known as Voted Expenditure? /

HY USRI XM H, AaGM 09 & 0 H fd ST o1t 82

1. Expenditure which is provided for Consolidated Fund. / 94 o dfaa Rfg o 1%11: Tal+d forar Smar % |

2. Expenditure incurred for conduct of elections to Vidhan Sabha. / faum= gur IA1d & I b ]%‘I'Q Eﬁef qrdi gg|
3. Expenditure incurred for conduct of Legislative Assembly. / faum™ 9y & Hare & T%I'Q oo T s |

4. Expenditure which is subjected to the vote of the Assembly. / T STl fIUTT THT P g & Mef grar g1

Correct Answer :-

» Expenditure which is subjected to the vote of the Assembly. / SIJ S fae™ 9HT & HdaM & 3 giar %I

99) Which is an Intranet-based Government to Citizen (G2C) service delivery initiative of Madhya Pradesh? /
A YR BT FTH-MUTRT TRPR J ARRS (& 2 ) a1 faaur wga A A 3 s arg?
1. Khajane ReNIE]

2. Bhoomi / {&[



3. Lokvani / e aTufl
4. Gyandoot / JT1gd

Correct Answer :-

« Gyandoot / JTgd

100) Which of the following Acts empowers the District Magistrates in Madhya Pradesh, to maintain law and order in
his/her jurisdiction?/

fFrafafea & 3 o ar sifufam, v v d forar aforee &1 3ue §RER ¥ ST 3R gawiT a1
@ &7 SHUPR a1 32

1. Madhya Pradesh Public Trusts Act, 1951 / H& TR s =T S1fAIfwm, 1951

2. Civil Defence Act, 1968 / TNTR® Y& AT, 1968

3. Code of Civil Procedure, 1908 / Rifde Tfdha Gfgdr, 1908

4. The Madhya Pradesh Rajya Suraksha Adhiniyam, 1990 / H¥&] = I gRE&T ST, 1990

Correct Answer :-

« The Madhya Pradesh Rajya Suraksha Adhiniyam, 1990 / T& T=T 1o IRE&T SHTAMTH, 1990



